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DIPLOMA IN DAIRY TECHNOLOGY 
(DDT) 

Term-End Examination 

June, 2013 

BPVI-012 : DAIRY EQUIPMENT AND UTILITIES 

Time : 2 Hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry equal 

marks. 

1. 	Define any ten of the following terms : 	10x1=10 

(a) Non-ferrous metals 

(b) Corrosion 

(c) Coefficient of performance 

(d) Sensible heat 

(e) Evaporation 

(f) Cyclone 

(g) Dry saturated steam 

Calibration 

Diaphragm 

Sterilization 

Convection 
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2. 	(a) Discuss the importance of proper selection 	3 
of dairy equipments. 

(b) Give the list of equipments used at milk 	2 
reception dock in a dairy plant. 

(c) Write the principle of working of a cream 	2 
separator. 

(d) Give the operation of a butter churn. 	3 

3. (a) What is meant by the preventive 	3 
maintenance of dairy equipments ? 

(b) Give the list of detergents used in a dairy 	2 
plant. 

(c) Describe the equipments used for cooling/ 	5 
chilling milk at the farm. 

4. 	(a) What are the disadvantages of using hard 	2 
water in a boiler ? 

(b) Write the cold storage requirements of 	3 
following dairy products, interms of 

temperature, relative humidity and 

approximate storage time : 

(i) Cheese 

(ii) Butter 

(iii) Ice cream 

(c) 	Describe different insulating materials used 

in construction of cold storage in a dairy 
plant. 

5 
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5. 	(a) Write the device / fitting to prevent the 	2 

steam pipeline damage due to thermal 

expansion. 

(b) Enlist the essential mountings for the safety 	3 

of the boiler. 

(c) 500 kg of milk is heated in a jacketed kettle 	5 

from its initial temperature of 20°C to 72°C 

with the help of steam. The total heat 

content of steam is 2513 kJ/kg and the 

condensate leave the kettle at 90°C. The 

specific heat of milk is 3.914 and that of 

water is 4.187 kJ/kg/°C. 	Calculate the 

amount of steam required. 

6. (a) What is the purpose of installing fuse and 2 

MCB in an electric circuit ? 

(b) Enlist various electric wiring accessories. 3 

(c) Explain 	the 	working 	principle 	of 	a 

transformer with a sketch. 

5 

7. (a) What are the advantages of submersible 

pump ? 

2 

(b) Enlist the components of rain water 

harvesting system. 

3 

(c) What are the benefits of water conservation 

in a dairy plant ? 

2 

(d) What specific points should be observed for 

dairy building sanitation ? 

3 
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8. 	Write short notes on any five of the following : 

(a) Bourdon pressure gauge 
	 5x2=10 

(b) Clean-in-place (CIP) cleaning system 

(c) Batch type ice-cream freezer 

(d) Steam trap 

(e) Water tube boiler 

(f) Cooling load 
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1. 	---4' TR- 1-4 LIFOTIft=M -WIF--4L I 	 10x1=10 

(a) 4 	t7 qte 

(b) -4URITT 

(c) 1:-IbLIK-1-11131fT 

(d) 4d,.-Rik-i ' --EIR-r 

(e) cliu-11 

(f) -19baid 

(g) -PF Ti.-Q71 14Tcr 

(h) 3t7rt-*7 

(1) 	siqiw4 

() 	F-1 4-1 ,1101 

(k) 	t-i01-1 
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2. (a) 3 34011'04 3 	-72F 

--1-f-a7 I 

(b) t-7;r4*fq t 2 TfLTE 	1;11W1 3411.01.  m̀1 

(c) 2 -4-97a-T r chi 	.1-)R 	ft 	id ch1 f-ffriy 	I 

(d) 3 "q-a-T chl fffPg7 I 

3. (a) 3 34chtu1 

fit? 

aTTWIT 	3-1171 c 

(b) tzit #Tfq -14 -51ThTf 2 3T9T1TtA oh TE-4- -q71-- 	I 

(c) Th74 -714 ch-latr/wrIf-d-d-  5 7-4 	-9wr 

ch( qui-ff 

4. (a) 2 GIRRI1WeR t WOE 	cmit? 

(b) 3 TrAfT* 3-1TtdT 3117 titici 	uT TITI71 

,z1F9. 	-TtT 	1:14-irciruci tzt Tozri 

-tff 	3Tra-q-zrwaTA rn1 f 	: 

(i) 41>Y1 

(ii)  

(iii) 3TrOM-114 

(c) 	#4q- 	 fQTrfafr 	5 

fa-fp valoch 	cbr 

BPVI-012 	 6 



	

5. 	(a) 	211:1-e fdTaTT 	11101 ITTEI =h1774 c-11-1 oh -Tf.d 	2 

.q-q-14rn11-N?f/fcF-ftri ail -rti7 

(b) Tur 	3TF-9-q-rzi 4-111.4141 7=0 	3 

01111 
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6. 	(a) 47 TI47 '1 (fuse) at 4-1.41.011 c1 4114 *I 	2 

*TzT 	if ? 

(b) fqra 	 ..[Eff TT 7:11-zi 	7=fflif-U 7=IT 	3 

(accessories) 4 T& 	 

(c) ,<-1-W-111 	4)141,11 	 -r-N 74 7j:11 	5 

7I 

7. 	(a) 	14-1\z-1 -11 61 (submersible) 4L1 	riri4 qE1T 	2 

(b) 	Ted. 	c1;1 01-11 I 3 

(c) t?=1-# TI'?:1 	 cio4 aqr ? 	 2 

(d) tTit 	aril 	f-*--9.-fatEr MA 	3 

117 +1)t t*qf ,11-11=-11? 
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8. 	fW- T qtr./ 'TT *47  	 5x2=10 

(a) -OTT 4 	:4 

(b) -crt9 

(c) • • • 5171td--  

(d) IT.FT 

(e) -q1Z7 

(1) 
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